1. A function is continuous but its first derivative has a finite discontinuity at the origin. What is your estimate of the rolloff rate?
A) 1/ƒ

B) 1/ƒ2

C) 1/ƒ3

D) ƒ2
2. A system is characterized by a transfer function. What is the natural response of the circuit? 
H(s) = 1 / s+5

A) h(t) = e^5t

B) h(t) = 5e^t

C) h(t) = e^-5t

D) h(t) = sin 5t
3. As the frequency of a signal increases:

A) The resistance of a capacitor increases.

B) The resistance of a capacitor decreases.

C) The resistance of a capacitor is unaffected.

D) The capacitor becomes purely reactive.

4. If a function is even, then its Fourier transform can be written as:
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5. The function x(t) = A cos t sin 2t is an even function.

A) True

B) False

6. What kind of circuit is equivalent to Z = 10 + j30?

A) A 10H resistor in series with a j30H capacitor.

B) A 10H resistor in series with a j30H inductor.

C) A 10H resistor in parallel with a j30H inductor.

D) A 10H resistor in parallel with a j30H capacitor.

7. A function with impulses has no rolloff.

A) True

B) False

8. A system is characterized by a transfer function. What is the natural response of the circuit? 
 

[image: image9.jpg]



[image: image10.wmf]A) h(t) = e5t
[image: image11.wmf]B) h(t) = 5et
[image: image12.wmf]C) h(t) = e-5t cos 2t
[image: image13.wmf]D) h(t) = e-5t sin 2t
9. As the frequency of a signal increases:

A) The resistance of an inductor increases.

B) The resistance of an inductor decreases.

C) The resistance of an inductor is unaffected.

D) The inductor becomes purely reactive.

10. If [image: image14.jpg]T (s+3)



 , are there any poles? Is the system stable?
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11. The voltage across a 10 ohm resistor is v(t) = 100 sin (50t + 20°). Find the current and write it in phasor notation.

A) I = 100 20

B) I = 10 20

C) I = 1000 20

D) I = 10 -20

12. A rectangular pulse of height H is defined for -A/2 < t < A/2. Find the frequency domain representation X(ƒ).
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13. A system is characterized by a transfer function. [image: image27.jpg]H(s)=




 It is excited by a signal ƒ = cos 2t. What is the response function of the circuit in the s domain?
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